Grade 12

Applied
Mathematics .
' arade 12 applied
Gra Week 8_ f
quiz DeP
(opti°"al)
13-03- /6
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GRADE 12 Applied Weekly Quiz Date:

Quiz Week 8. Optional. Any attempt will not make your mark

worse. May elevate course mark by 2 — 4% for some or just lock in
mark for those with better mark already.

Round decimal and percent answers to nearest 0.01
SHOW WORK.| Each individual numbered or lettered question is worth 2
marks unless otherwise indicated.

Reduce all fractions| Round all decimal and percent answers to the
nearest 0.01.
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1. For the following quadratic
function: ‘j T‘F 2

10 | f(x)=x>—6x+3

a. Use a graphing tool. Make a

representative sketch of the function. <
Significant points should be in correct I »w
quadrants.

b. State the Domain and the Range

e *xXs.______J \l,

<Wx) < __}

d. Label on the sketch and state:

c. Label on the sketch and state the .
following. y — intercept: ( ; )

Vertex: ( , ) ‘zeros’ [ x- intercept(s) ] if any

Axis of Symmetry: x = ( S i

f. Solve for x:
10=x2—-6x+3

= &




1. For the following quadratic £t 1)
function:

0 | f(x)=x*—6x+3

a. Use a graphing tool. Make a

representative sketch of the function.
Significant points should be in comect %
quadrants.

b. State the Domain and the Range
all values
— 0D < y < oD }

(_~6 <fx)<_9O 3
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d. Label on the sketch and state:

c. Label on the sketch and state the _ 0 3

following. y — intercept: ( ) )
Vertex: ( 3 ) — é ) ‘zeros’ [ x- intercept(s) ] if any
Axis of Symmetry: x = 3 (0-5'_5 J_Q)__., @'L‘LS_,Q)

f. Solve for x:
10=x*—-6x+3

X = &




f Solve for x: What V""}"P—fﬁ) of x
]_[ dO 'a[l'ul. heegl tﬁ ﬁ,&t

10=x2—-6x+3 o /o ?
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h) -6(—1)-1—3
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2. The number of fans that attend a town's new hockey team’s games is
said to increase by 25% each game. At the first official game there were

200 fans. (L; _ Iéﬁ.lg-}f

8 a) State an equation that models the situafion. [Hint: exponential]

b) What will attendance be after 5 games?
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2. The number of fans that attend a town's new hockey team’s games is
sald to increase by 25% each game. At the first official game there were

200 fans.

8 a) State an equation that models the situation. [Hint: exponential] /

b) What will attendance be after 5 games? \/

¢) Determine how many games will it take for the 3,500 seat arena to
sefloul. |3 334 games © S0 H‘%ﬁh £

d) Sketch a Graphing Tool Screen shot of the graph and label
solutions. 4000
N | =35J00

L‘} ‘1-1,””. bxl é%-?—-- ---b

(13.834.3300)
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3. Trevor purchased a house for $400,000.00. At the time of purchase, he
made a Down Payment of $100,000.00. The remaining balance was
financed with a loan at an interest rate of 4. 30%, compounded monthly,

over 25 years. Q) C,Lfl'\f-'*' %heit L b g(ﬂﬂub ﬁh)

6 a) Determine Trevor’'s monthly mortgage payment. ok 8 u es t._ m...
b) Trevor's house appreciates In value at an average rate (h&‘s’&
ear. What will the value of his house be after the first 15 y2ars?
[ ClI |
[Show a hand-drawn screenshot of any TVM App entries and solution]
ﬁ) PU‘ 00.600 Present Value | 300,000
p
¥ PT7) €32,23.  Payments
};V ﬁl Future Value E-U
9 th Annual Rate |43
Pds 30042571 (%) -
M“'ﬂ'-a Periods |300

Compounding | Monthly



3. Trevor purchased a house for $400,000.00. At the time of purchase, he
made a Down Payment of $100,000.00. The remaining balance was
financed with a loan at an interest rate of 4.30%, compounded monthly,
over 25 years.

b) Trevor's house appreciates in value at an average rate of 2.50% per
year. What will the value of his house be after the first 15 years?

[Calculate with TVM App or with exponential function] Volue ,,P
A= Yool (I 015>!5F _—_HD
_ ' IS ears
7o B $S__||,qj?j-\'i Vé lue ﬂ‘p l\d-ﬁe u-'ptl'."' 9 Yook
OR

Present Value |-4'3“C"J3"'3”3I

~ %nu a ’
|
Payments |0 ineest . L -
50 ljfu-) uhl.'a G. house co>b
5793192
Future Value u ol shvestm t..,‘k .

Annual Rate | 55
(%)

Periods |‘T5 L{sEﬁl“S'
Compounding |f1hnrma|13.,r




3. Trevor purchased a house for $400,000.00. At the time of purchase, he
made a Down Payment of $100,000.00. The remaining balance was
financed with a loan at an interest rate of 4.30%, compounded monthly,
over 25 years. L VPN,

6 ﬂ-Pfe,lr‘ f‘:.rzeﬁ.rs Llcs Lnu.Sf ;,w.,,tc,tvnen{\

s now worth 5 +9 '},[c'(
HQ S'tL“‘i owes 't'l'\c_ bﬁml"\ mnntl'\&v “3
Qs of I)G.tam,e.,'tsl Owes 159 Jlot sty

¢) How much equity will Trevor have built up in the house after the first

7 ;
1y Ks-t"‘“ ULFS! TV"EUD?% E%\,.:ha_
Present Value
Payments -1,633.62 o= b&‘:h Ms."'.-h *
ment'hl..ﬂ T)l-(‘bﬁ
Future Value | -159,104.46
uture Value rS't ”n“e_”
Annual Rate 43 ' ban
(%)
Periods | 180 — Lo-lS oS IS4

Compounding | Monthly




The App you download has a Mortgage Loan Payment Schedule

« Bell =

€ TVM Calculator

Period

8:41 AM ]

PV

300,000.00

299,441.28

298,880.76

298,318.13

297,753.48

297,186.81

296,618.11

296,047.37

295,474.59

294,899.75

R e N T

f[

PMT FV

-1,633.62 -299,441.38 & ‘él’\e

-1,633.62 -298,880.76
-1,633.62 -298,318.13
-1,633.62 -297,753.48
-1,633.62 -297,186.81
-1,633.62 -296,618.11
-1,633.62 -296,047.37
-1,633.62 -295,474.59
-1,633.62 -294,899.75

-1,633.62 -294,322.86
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' Bell =

L( TVM Calculator

8:41 AM ]

Period PV PMT FV
oy e k15 e e e S
176  164,365.25 -1,633.62 -163,320.60
177  163,320.60 -1,633.62 -162,272.22
178  162,272.22 -1,633.62 -161,220.07
179  161,220.07 -1,633.62 -160,164.16
= @n 160,164.16 -1_533.6

81

183

184

185

159,104.46

158,040.96

156,973.66

155,902.52

154,827.56

-1,633.62 -158,040.96
-1,633.62 -156,973.66
-1,633.62 -155,902.52
-1,633.62 -154,827.56

-1,633.62 -153,748.73



4.  Statistics. Karen works as a sales clerk at Cycle Sports. During the

first 12 days of the month, the store sold the following numbers of bikes:

16 ] 32 v 27V 19
19 v| 23 v v 32y¢
5 v 20 v 5 vl BV

Z = g0+ IS + 8l+ o - 300

Do &uf_:{t‘:-m\
1 or Y

Manually show your determination of the mean, median and the mode(s)

of this data. [1 mark each]

25

300 _
N

—_ Ex_

Mean: daily bikes sold h

= 35

Median: 2 '7L daily bikes sold

5f

) 7 daily bikes sold

3 of
&hese

such as Desmos].

Mode:

= [16.19.25.32,23,20,27.19,35.19.32,33 ]

Ty Y4, 361, 2R,
N/ T

(1+29)

¥,y
At
= LY

.

L = 12 element list

|
stats !
tats(L) - E

16

Min

a1 19

—_ l

"—")'2 Median 24 ) E

Q3 32

j-l’q €S Mﬂ'.st 'FI"E%A:.-.

Max 33

mean(L) 1l

= 25

X\
|



5. In a bag of marbles there are three Green marbles, two Blue marbles,
and one Red marble. In the three separate experiments below determine:

a. the probability of drawing, in one draw, a Blue marble. [P(Blue)]

b. the probability, in one draw, of drawing out a Blue or a Green
Marble. [P(Blue OR Green)]

Q) P(Blue.j :f:‘ftaﬁllge: —gé-"* -—,5 =333 | B BR




5. In a bag of marbles there are three Green marbles, two Blue marbles,
and one Red marble. In the three s,fparate experiments below determine:

,/éa

¥ -
T Fhs %t %o K
[Draw) 1’3"3 "\lfﬁ
/(4 R—_:__GB

c. the probability, in two draws without replacement, of drawing a

Green marble and then a Red marble without replacing the first

marble. [P(G+, Rz2)] /AND ZmurTreLy

[express all answers as reduced fractions and as a percentage]
) P(@ RJ) P(Gj P(RIG) BBR
)'/5 30 / 0 @ GGé

!_ '{“‘f,’t SEQ{IF‘!G& AVELJ

Avow hes e |ess
marble



6. Problem Solve. You buy three burgers and two cokes for $13.00.
Your friend buys two burgers and one coke for $8.00. Determine the price
of a burger.

& L Several ways to solve problems like this
5 GLAQ‘S'E ah C QCh Would have done lots of this in Grade 10
L"‘> Pm lgﬁ_l_‘)lla 'fl’\é on f|3_! Applied
+oo| available
Facenp me Frvendl e 8
O Ni= Two Buvger Three ONE 3 Cohes | Cohe
n i CaKE ~ .
u-—qt’. B l' L - 5 $ ‘*F’ff/':-l
IR 3.50
$i 16 gy 13 3
5, 4 bo Free! 97 £0.50
T P : | rxlurje.l
4-6 13-4
$é $q $ P4 fur $ fw
Fov Twe ONE
cme cche C’ﬂhf,': COh—E
Tahes o hil of Lk
‘ So one burger costs 3.00 ‘ thes methed nol precicchle

oL e burger woe to cost 11,5‘:"



Here are some of the more
expediant and effective ways
to solve these types of
problems that have two
unknown amounts!

We would have learned these if
we had done Grade 10 and
Grade 11 Applied
or Pre-Calculus

Fﬂr\e ore oll Qagu:a‘
BQ-& SkLP akeao{ 73 C.Ou]jlfi Imde:es L‘P ‘

den.:. o[c: ha‘t' care




6. Problem Solve. You buy three burgers and two cokes for $13.00.
Your friend buys two burgers and one coke for $8.00. Determine the price
of a burger.

FYIl: GRADE 10 APPLIED METHOD
ALGEBRA

2 SYSTEMS OF LINEAR EQUATIONS

JE'LT- = Pl-ice a‘P One 'Ol-alrﬁir_r ) .Z.L-t .} = Pri.ce of e r.nht

You: Ik + YT 1% Thes is & much more
Friend? &+ ’2 =8 {war‘rM wiethod
frown Grade 10 Applied
T U T e iy W
Crd 3¢ (Axty) T2TB 7 Cx +3y =Y i

ke T, i & 37:4—3-{513

Ex +'4y=db T e 3+ 1D =N
:3:2“: then 3x + 262

= (6x+ nd T4 4213
Ox + “J: d Yy =
.. one cohe = $;] 4 x = $3



6. Problem Solve. You buy three burgers and two cokes for $13.00.
Your friend buys two burgers and one coke for $8.00. Determine the price

of a burger. D b, + S

S+ eSS+ +\J+\Y = 1D me
= FI"LEHGI.
_e«t e_+\_l _8 "~ ore
ME
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COSTS 3 1D+ | (D=8V - -
@ (i) =1 — = 5 F/i'*z’
Aureer cohe T4+ 4 =é




6. Problem Solve. You buy three burgers and two cokes for $13.00.

Your friend buys two burgers and one coke for $8.00. Determine the price
of a burger.

(0.8 Graphing is even easier! Touched on this in
X - Grade 11 Essential

K= Price Gne 5
bhl-$lr'
- PH:.LE Ol
'j cohe

i 1 buvger dohe (40 | 13




6. Problem Solve. You buy three burgers and two cokes for $13.00.
Your friend buys two burgers and one coke for $8.00. Determine the price

fab :
of a burger or! ﬂ.lsa -Fralm Gl"ﬁ"l‘?- 0 .’

'Sx-lf?.j:B a4 alvﬂ-l-'a: 3

i

o D élx(ﬁ—ix) =13
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Determine how many ways all the letters in the word
WAYWAYSEECAPPO' can be distinguishably arranged.

DMe !
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Josh 1s heading to home from school. He randomly selects his route home.
He is only allowed to make moves North or East. Determine the probability

he wanders past the Fire Station. 9. M“a"" the |5 fome wt’
+4 Paf_\,m‘ Trmncalé‘, hewe dome on of these !
method P
N FE}_‘-_. o

EAloME
| &choo| o Home all
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Sclool 0 P P {0 howe
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hrwe TS
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Josh 1s heading to home from school.

He randomly selects his route home.

He is only allowed to make moves North or East. Determine the probability

he wanders past the Fire Station.
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